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BIOLOGY

i GENERAL INSTRUCTIONS

Examinee is directedito read carefully the following
JInstructions :
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. Examinee must write his/her Roll Number in the

specified box on the top left hand corner. of this page.
Answers are required to be marked anly on the
Computerised C.M.R. Answer shest which is being
provided to°'the examinee.

. Besldes filling'in the Roll Number, the examinee has

to put his/her signature on the Answer-Sheet and also
fill other required details like Name, Roll Number,
Question Booklet code, etc. as indicated on the OMR
Answer Shest. [f these detalls are not filled in by the
examinee, his/her Answer Sheet will not be evaluated.

. For each question, there ara four alternative answers,
out of which only one is correct. Examinee must darken -

the circle of correct option in the Answer Sheet by
Black Ball' Pen only. :

. There are 24 (20+4) pages in this Question-Booklet

including 1 page for General Instructions and four
blank pages for Rbugh Work in the last. In case an
examinee receives an incomplete or defective
Question Booklet, hefshe should make a request to
the Room invigilator to change the same within 10
minutes of starl of the exam.

. This Question Booklet: contains 50 questions from

foliowing subject :

(1) Biology * Q.Nos. 1-50

. Each question carries 1 mark and % mark will be

deducted for each wrong answer.

. Pogsession and use of electronic devices such as

Calculator, Celiular Phone, Digital Diary, Log Table,
Pager, stc., are restricted during the examination.

. Any leaf from the Question Booklet should not be

detached. After the Examination, Question-Booklet
and Answer-Sheet must be handed over to the Hoom
Invigilator.

. During examination the examinee will not be &allowed

to lsave the examination hall till the END of the
Examination.
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1. rDNA is produced by joining
A) one mRNA with a DNA segment
B) one mBRNA with plasmid DNA
C) two RNA molecules
D) one mRNA with a polypeptide

2. Plasmidis a
A) extra chromosomal,self replicating,
double stranded, linear DNA of
bacteria
B) chromosomal, self replicating
double stranded, circular DNA of
bacteria .
C) extra nuclear, self replicating,

double stranded; circular DNA of
- bacteria
D) nuclear, self replicating, double
stranded, circular. DNA of bacteria

3. Find out correct statement about Bt toxin

A) Bttoxin exists as an active compound
in the Bacillus

B) Bttoxin is producedby cotton plant
to kill pest

C) The activated toxin enters into

ovaries of the pest and the pest -

killed

D) The inactivated prototoxin gets
converted into active form in the
insect gut and kills the insect

1. Rrrehr SR & (DNA SeaTfea g @ ?
A) T mRNA % T U DNA &6
B) T mRNA % 619 e DNA
C) @ RNA AeiRed :
D) T& mRNA & T19 T W I2REeS

2. wifeE
A) aﬁmaﬁﬁﬁw,mﬁﬁ%ﬁﬁ,w
s, SrEeiiar & tRas DNA
B) SHSIT, T4 R, §H 1SS,
SEATET T M DNA
C) it feweR, T ki, g
TisE, sl F Mot DNA

D) =R, T femsfen, g wiss.
SaFAET =1 TR DNA

3. Bt 2 & fomm & 9 Hum g3

A) Bt TR frmefier diffes & w9 3 T
e ° g

B) Bt Tfwga @ura % diut g el @i
TTet 3 o Feater fora smen 2

C) i % ienm # framsie < wam
A1 & AN IS A 18

D) e MaeiRm i ofFe

% w0 T ged W e F i 51w
HRaT &
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4 Elution means

A) cutting and extractlon of DNA
bands from the agarose gel

B) separation of DNA fragments on
agarose gel

C) making the DNA fragments visible
when exposed to UV light

" D) isolating a desired gene from DNA

of an organism

5. One of the following supports declining

phase of a population
A) Mortality > natality
B) Natality > mortality
C) Mortality = natality
D) Natality — mortality =0

6. The restriction site recognized by

enzyme EcoRl is
A) CCGGGC
B) CTGCAC
C) GAATTC
D) AAGCTT

7. Which one of the following is not

correctly matched ?

A) Dengue Aedes mosquito
B) Malaria Female Anopheles
C) Amoebiasis Houseflies

D) Ringworm  Droplets

lllIlIlIIIllIﬂ%llllﬂ_

4. T T e §

A) TG S A DNA & %1 HieaT ae
Fredo wer

B) STTR™ SIS & DNA%:gm’ra%
famrea e

C)uvﬁmﬁﬂlmwx%gmgmmnmm
3T 8

D) ST 1 DNA 31U T& qifesd S &)
ST FHEAT

5. Frfafea d @ v srene & firrae i e
w1 ol w1 R |

A) TR > ST
B) ST > HeIal
C) odR = T
D) ST — Jegel = 0

6. UsEH EcoRl mqsamwyﬁaum%
A) CCGGGC
B) CTGCAC
C) GAATTC
D) AAGCTT

7. 3§ Reem gareT wEt T @ 7
A) 37 T T
B) Wt e GG
c) sffmfm  wfFeaf
D) Tw gl

g—
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8. Which of the following enzymes is not

10.

11.

produced by E.coli during lactose
catabolism 7

A) B-galactosidase

B) Galactoside transacetylase
C) Carbonic anhydrase

D) Lactose permease

. According to HGP, the longest gene

consists of
A) 3, 164, 7 million base pairs
B) 3000 base pairs
C) 2968 base pairs
D) 2.4 million base pairs

-

In Mung bean, resistance to:yellow
mosaic virus and powdery mildew were

“induced and developed by

A) Mutation breeding
B} Hybridization
C) Polyploidy breeding

D) Recombinant DNA technology
method

Which of the following is not a sexually
transmitted disease ?

A) Acquired immune deficiency
syndrome

B) Trichomiasis
C) Syphilis
D) Tetanus

e e

8. Frer § Q 1 w1 USEes &1 YA S, Feft
S ECA SR G CICC AR C R R E ]
TR ?

A) - feitEH

B) Nemeits Zaadesas
C) FHEIF TERSH

D) SR T

9. HGP & off@R @=@ wa o1 39 W13
S i PRI

A) 3, 164, 7 fufea
B) 3000

C) 2968

D) 2.4 fuferan

10. T s, e Hiere aeE R et fiesy

& wfg =

T Wi 3k

ferrfima fpm R |

A) Iat@Ed T
B) ROl
C) uichezst Jsma

i P

)
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12. In the womb of the mother the first heart
sound of the foetus can be heard by
Stethoscope at

A) First month of pregnancy
B) Third month of pregnancy
C) Fifth month of pregnancy

D) Sixth month of pregnancy

13. Read the statements and identify the

LT

12. AT F ™ & 4o % g ) vl s
R Z el Gt T W & 7

A) TiEE F qES wE o
B) e & et 7 |
C) mviaeen ¥ uied wdR &

D) miaeen & w2 wdy i

right option.

Statement): Mild foetal ejection
; reflex is induced by
placenta.

Statement Il : Foetal ejection reflex
triggers the release of
oxytocin from the

ovary.
A) Statement | and Il are correct
B) Statement | and H are incorrect

C) Statement | is correct and |l is
incorrect '

D) Statement | is incorrect and H is
correct

13. el ) vg, |l Rerew )

FUT:  Foh YOI IO Wi Ft
wdier R Sifta fw s &)

AN : O N YR iR
¥ IARA 1 e =1
w7

LPage No.
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14. Identify the incorrect statement
pertaining to contraceptives from the
following.

A) Mostwidely accepted methods of
contraception in India is Intra
uterine devices

B) Surgical intervention blocks
gamete transport and thereby
prevent conception

C) Pills inhibit ovulation and
implantation as well as alter the
quality of cervical' mucus and
retard the entry of sperms

D) IUDs are useful only before the
coitus

15. The regression co-efficient for
frugivorous birds in tropical forests of
different continents is

A) 0.1
B) 1.5

C) 1.15
D) 1.75

16. Which of the following is not an example

for degenerate codon ?
A) Leucine

B) Alanine

C) Tryptophan

D) Glycine

14, Frafafga & @ miFRS et # &t o
TAqE ?
A) 3T THIIRIETET 3960 G o
TS F 9K W =1 w9 d
ST e B

B) ufaes au miarw &t Ut & g
YreaffentaT SREY aeg T &

C) Mferat felieasiy 3k 3w & amy-

e TR e 3 wenm <6 e

3 St & TR YERTURA o6 A ) Jait 3

D) IUD weams & T € 3uge & &

15. fafim werdial & Swmesfeeiy st & wies
vt o fore sl Tories 2

A) 0.1
B) 1.5
C) 1.15
D) 1.75"

16. ¥ @ #7 W1 1R #el F e e
TR
A) TR
B) T
C) fe<wm
D) wemsRm

\/
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17. Which of the following is not a 17. 98 8 B A ST et

characteristic of Drosophila
melanogaster ?

A) They are dioecious flies

B) The‘genes studied by Morgan
found on different chromosomes

C) They show many types of heredity
variations

D) They complete their life cycle in
about two weeks

18. Read the statements and identify the

right option :

-Statement|: Due to continental drift
pouched mammals of
Australia survived.

Statement Il: South America joined
North America due to
continental drift.

A) Statementiand Il are correct
B) Statement|and Il are incorrect

C) Statement I is correct and Il is
incorrect

D) Statement I is incorrect and il is
correct

uage No.s—]j

TE T 8 7
A) 9 SEIfYsTe aifayt &

B) Wi BT etem fomam mar Sf atem
e SHTE § T T §

C) 3 TrafiTehar 3 wuidl #t gwrtar

D) Wa‘twﬁﬁ%aﬁeﬁaﬂaﬁﬁ
[ w

18. el i g et Forew g |

HUT] : Filreied TgR & T

sriegfera 3 fiem gan
IR 9 T |

wHAT N : 3fEToT 3T, I e

& Ty Fieew fTw &
I T |

A) 99| 997l 9t
B) 9 | qu1 lleiq -
C) = | w&t aen & |l T

D) = | e oo e 11 St
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9. ldentify the mis-matched one.

A} Australopithecus — hunted with
stone weapons

B) Homo habilis —brain capacity 650 cc
C) Homo erectus — ate meat

D) Modern man arase — 10 thousand
years-back

19. S0F ) Yg=T |

A) FARANTHY —Toer H ERARI S voE

&

B) Mt eifsifere — wiftiss = amed 650 oo

C) aﬁ@m-mmﬁé

D) 3yfes WHE W - oY §9R 91 vae

.. Which of the following contains only 20. 3 & {3 firds sty ammfse € 7

bacter-iall disease ?

A) Cholera, Typhoid, Pneumonia
B) Malaria, AIDS, Cholera

C) Typhoid, Tuberculosis, Influenza

D) Diabetes, Malaria, Syphilis

One of the agricultural practices of 21.

breeding and raising livestock is
called

A) Veterinary science

B) Dairy farm management

C) Cross breeding

D) Animal husbandry

&age No. 9

]

A) HeW, TRFES, Rt
B) waif@n, weg, Fem

C) THIEE, TETHAIGH, FRIG

D) zaifdiw, mafen, Rtk

Y Teef uypet o S S vy wh

a2

A) i
B) T Hetew
C) IR WS-

D) wftr %y
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22, Mule is a cross breed obtained by
crossing

A) male horse and female zebra
B) male donkey and female zebra
C) male horse and female donkey

D) male donkey and female horse

23. Identify two rice varieties used to
develop semi dwarf variety of rice

A) IR-8 and Taichung native-1
B) Sonalika and Kalyan Sona
C) Jaya and Ratna
D) Kalyan Sona and Jaya
24. Which one of the statements regarding
asexual reproduction is false ?

A) Offsprings are similar to their
parents

B) Reduction division takes place
during asexual reproduction

C) Offspring do not show variation

D) Zygote formation does not take
place

M X |

22, T T G WIS B, 3o w0 kg T ¥
A) et i AT st
B) T 3R AT Sw
C) HreT 7T meft
D) et it M

23. rgEa ¥ W& Fad Red a1ef < e
EEDIRS |

A) IR-8 aﬂtﬁgn?rﬁm
B) WiTferert 3R Femr S
C) s/ iR &

D) e ST 3R S

24. T W HT 1 999 IS Yo 5 REw i
TR

A) Haf wrar-fimn S g 2

B) *1%iffeh Worm % 2R yema RveE
Brar & :

C) wafa ® = Wk T i

D) Iw WA e B
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25. Match the Column | with Column Il and
select the correct-option from the choice

below :
Column | Column Il

a. Polyembryony i. Commelina

b. Dioecious ii. Grass

c. (Cleistogamous . iii. Date palm

d. Apomixis iv. Citrus

a b c d
A) (v) (i) () (i)
B) (v) i) (1) (0
C) (i) () (iv) (i)
D) (i) (iv) (i) (i)

26. Gapacity of a plant cell to give rise to
whole plant body is known as

A) Reproduction
B) Budding
C) Totipotency

D) Regeneration

25. ¥ | ot || 7 9EISH i §T wat oo I

vl ww i
a. el i. e
b. SERE@E ii. =T
c. Fierms iii. @
d. IR iv. frzm

a b ¢ d
A (V) (i) () o ()
B) (v) (@) @) ()
C) (i) (i)~ (v) (i)
D) (i) (iv) (i) (i

26. T TN H AW SN 999 9 N T A
% goel 8 5% ___wRd 8|

A) TS
B) Jdifea
C) Zifeuaredt
D) gsiH

)
——
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27. A population has more than 50% in post
reproductive- age group; according to
you such population is

A) stable

'B) declining

C) increasing

D) showing biotic potential

28. ADA deficiency can be permanently
cured by

A) Bone marrow transplantation
during infancy

B) Enzyme replacement therapy at
the age of five

C) The infusion of genetically
" engineered lymphocytes

D) The introduction of the ADA-
producing gene into the
embryonic stem cells

29. Restriction endonuclease breaks bond
between the

A) Base pairs of DNA molecule

B) Sugar-phosphate backbone of
nucleic acid

C) Exons and introns in cistron

D) N-glycosidic bond between sugar
and base

M A

27. T AWM % 50% vfava § suer v %
AT H ITEAT % B; 3MUF FTER I/ THN
$t et R
A) fearx
B) gemaTeft
C) =gt
D) ek s @1 feEmaTe

28. ADA = el I 56 R IREa &9 §

S P usa R |
A) T H 7SS & RO % g

B) Ui @il it 30 § R g
TFaferea g

C) ngafimr ¥ # feiifer e
w1 I

D) ADA- 3cqTe SH i 30 TH
FIRTRIAT 7 THTRSE

29. oG CEREAICE ¥ o9 9
dlga g |

A) DNA 70 % amam SR

B) =fte ufirs Y =frfi-wiche fig i
sl

C) & ¥ gl iR 2l
D) =i oo 39 ¥ w-eis e gun

C tage No. 12
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~ 30. Select the wrong statement.

A) Our.present day crop plants are
entirely different from their wild
ancestors

B) Almost all our present day crops
are the result of selections carried
out by the prehistoric human beings

C) Seeds and plant samples of only
genetically superior and cultivated
species are introduced from one
country to another

D) Genetic diversity of our crop plants
must be conserved

31. Zoospore is a
A) haploid non flagellated spores
B) haploid flagellated male gar'netes
C) haploid female gamete

D} haploid flagellated spore

32. The list of agents of pollination and the
technical words used to describe the
pollination are given below. ldentify the
correct pair.

A) Malacophilly Pollination by snails
B) Entomophilly Pollination by birds
C) Omithophilly Pollination by winds
D) Anemophilly Pollination by animals

30. T ¥ Ted HET YT |
A) T T fAT & wue F O T
STeft qesit & qiiare arem &
B) = i 3R adue R % wee

writfoeTite wget 5 Y T S
SR

C) Fad AgEiRTs ¥4 A I3 3R Geft i
ST St & o St feF
T TR 3 Y TE 3§ iR w0
GRS

D) TR waa Wit it gafen iy
= wefdra fora s iR

31. 99 SE] (FER) &
A) T SRR STy
B) SR S R I
C) TR AT Hh
D) 3fra e Sfe

32. T 3 Wi TRy g 9O =) 90w
ditie weal & gt A w2 | 7 |
Sigt gfT |

A) Baeifeeft  Sie T
B) Womithet  waft wmr
C) snfienfeelt gy W
D) wiimifret st o

Cc [Pége No. 13
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33. Which.of the statements is correct ?

A) cleistogamous flowers always
exhibits autogamy

B) chasmogamous flowers always
exhibit geitonogamy

C) cleistogamous flowers exhibit both
autogamy and geitonogamy

D) chasmogamous flowers never
exhibit autogamy

34. One of the ex situ construction methods
for endangered species is

A) Wild iife sanctuaries
B) Biosphere reserves
C) Cryopreservation

D) National park

35. IUCN stands for

A) International Union for Nature and
Natural Resources

B) International Union for
Conservation of Nature and
Natural Resources

C) International Union for
Conservation of Natural
Resources

D) International Union for
Conservation of Nature

|

33, T8 S o g TEi R 7
A) FEEEITIIE G Wa1 W@ Ml H
T §
B) =fiet amoft T AR =l 39k &

C) TG Fel TeT i qu
orrh i gmia 8

D) e qaoft St oft T W
& awia
34, easT Wit % 1T ex situ Fmio wgfa
NEREEE e
B) S HSw WeR
C)mﬁm
D) TR I

35. IUCN &1 Haed -
A) STETIFR TR B =R 3HiS =g
ferda
B) ST ZFE B F1aT 316 T
aiE =g s
C) $eHITFE FFA B Fwoae 3TH
AT s

D) $eHITE qFaT I FHATH AE
I
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36. Select the correct statement.

A) Acetobacter aciti produce citric
‘acid

B) Saccharomyces cerevisiae is used
as clot buster

C) Penicillium notatum restricts the
growth of staphylococci

.'D} Methenogens are found in aerobic
conditions

37. Read the Statements and identify the
right option.

Statement|: Human liverfluke
depends on two
intermediate hosts they-
are snail and fish.

Statement Il : The life cycle of
Endoparasites are very
simple because of their
extreme specialization.

A) Statement!and !l are correct
B) Statementiand Il are incorrect

C) Statementlis.correctand |l is
incorrect

D) Statement | is incorrect and Il is
correct

36. W& A= B A |

A) TfEreeret wEid fafes wfe o acuea

E2GI &

B) wratmseE HINRRE 1 9= awh
T S 9 A T o &

C) YFfuferm Fien Ritrawrh H 3
1 Ncreiter L 8

D) MR e g 1 I SR #

37. FU N ve i wel e 5 |

| WA g IR 2 Ao e
IR Aol TeEm WA EaE |

wed Il I 9 foSiegan & SHor T

TR & e 9% sga @
WAE |

A) T [aur || T
B) Y9 | F9T I TIeig
C) =u | u&t, | feta

D) &4+ | e, |1 ot
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38. In the DNA molecule

A) the proportion of adenine in relation

to thymine varies with the organism

B) ther‘é are two strands which run
antiparallel onein 8’ —> 3 direction

and other in 8 — 5' direction

C) the total amount of purine
nucleotides and pyrimidine

nucleotides is not always equal
D) there are two strands which run
- parallel in the 8 — 3 direction
39. Which one of the foliowing is wrongly

matched ?

A) Transcription — Writing information
from DNA to tRNA

B) Translation — Using information in

mRNA to make protein

C) Repressor protein — Binds to

operator to stop enzyme synthesis

D) Operon — Structural genes,

~ operator and regulator

MR RIANI A

38. DNA a7 &

A) 409 % dey o ok = orgew a &

|1 Seedl &1 8

B) & frei € st 8 >3 & fam # 3k
3 3 — 5 R e SR g

C) ofiF =[fFieRsy iR ugiteTE
IfRFTESE I T A TN A
Tl &l

D) 2 frei €51 5' - & T & wuFER
EGR
39 FHAFT AT ANAR ?

A) wfeei@ — DNA S tRNA & gl =l
g

B) 31qa® — mRNA § ga1ail &1 3uam
Fh WA 7T

C) Thal M —USIEH Teis Y sk
% o et it s

D) 3T — STaTeHF SfH, e i
IERICE]

O
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40. Select the incorrect statement.

A) Hybrid seeds must be produced
every year to obtain maximum
.. advantages of heterosis

B) Heterosis is lost by inbreeding

C) Apure-line is the progeny of alarge
number of heterozygous self
pollinated plants

D} Genetic diversity is being or is
likely to be used in the

improvement of domesticated
plants

41. Diversity of which of the following given
groups are maximum ?
A) Fishes
B) Algae
C) Fungi

D) Amphibians

42. The oceanic carbon reservoir constitutes
A) 49%
B) 71%
C) 50%

D) 79%

40. 9 9 T H T |

A) BfE w1 it a™ W S
e = ad g i # I@ fEn
ST =TRY

B) BUfYG Tefe YoFH W T B @I 2

C) T Y& VBT BeUsiTa Sorta wei
#F o ot wem ) gam f

D) trgeifres ferfereran a1 rerq i & gem
H I9d B I TIET
41, Frfafga &4 g aug & &
R & 7
A) "l
_B) dam
C) =hash

D) 3v9=R

42. TEHHET IANAF___ TSR |
A) 49%
B) 71%
C) 50%

D) 79%

Page No. 17

5CEB

()

—




43. More recombinants types are formed

when

A) the genes are located very near to
another on chromosome

B) the genes located far away from
one another on chromosome
C) the crossing over is very less

D) the genes are located only on
Y-chromosome .

44. ldentify the correct combination
showing the blood group with their
respective antigens (sugar), antibody
genotype and special character.

‘Blood Antigen Antibody Genotype Special

Group present/

Sugar
A A B b
B)Y B A a
"C} AB AorB none
D) O Neither Botha
AnorB andb

L

43, 31 -GS YRR S0 § o
A) S0 shrTSI A T gE & e R R
B) Gﬁqaﬁﬁﬁwﬁ@@ﬁa‘gfﬁm%'
C) ST 37rR 7 Bt B
D) S Y-wmrsim 3 el € @

44, R TR P ST WA A, T
SfiHterY @ik forly =i ¥ T Rew wm
A HE St T2 9 |

W v WEid fieege R

g YT/ vreaw af=
Character
A A B b AE e
A B Most HIRTq
common TR
type
B) B A a B8 Saeiwnm
1B Found only
A A frearen
in India
AB o C} AB AorB ®R T IAB wiveiwa
dominance ) .
D) O A a P10 grhifs
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45. [dentify the mis-matched one.
A) CUU - Leucine
B) GGU - Glycine

C) GCU - Alanine

45. T ¥ 90 W G |
A) CUU - Leucine
B) GGU - Glycine

C) GCU - Alanine

D) GAA — Valine D) GAA - Valine
46. Match the following : 46. TN Fh FARET ;
Column | Column I AT | =l
a. Gause - p. Resource o, TS . TaTE R
partitioning
b. Connell g. Exclusion b. HH q. Ffe=R g
plincrple c. 7 it r. St feefin
c. Mac Arthur r. Competitive
! d. FEisee-ad s. 3T gfg %

release

d. Verhaust-Pearl s. Logistic growth

curve
A) a-q,b-p,c-s,d-r

B) a-r,b-p,c-s,d-q
C) a-q, b'rs C-p, d-s
D) a-r, b-s, c-q, d-p

47. The Hardy-Weinberg principle explains

that the speciation is due to
A) Morphological changes
B) Chromosomal changes
C) Gene frequency changes

D) Acquired characters

A) a-q,b-p,c-s, d-r
B) a-r,b-p,c-s,d-q
C) a-q, b-r,c-p, d-s

D) a-r, b-s,c-q, d-p

q9E B

C) S ITefe saed
D) otftnrdia aui

e,
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A) TUHE HeE
B) HMISIHICHS Jgeid
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48. Multiple alleles are characterized by

A) more than two alternate forms of
genes found at different loci

B) more than two alternate forms of
genes found on same loci

C) one gene occurs in
chromosomes

two
D) none of these
49. Which of the following is a mis-matching
pair of the disease and medicine ?
A) Emphysema — I-antitrypsin
B) Cancer — Alpha interferon

C) Blood clot — Streptokinase

D) AIDS - Penicillin

50. Identify the right pair of the extinct animal
with their country.

Animal Country
A} Dodo Russia
B) Thylacine Australia
C) Quagga Mauritius
D) Stellar Sea Cow Africa

N R

48. =g TR & TET 39 YR S =
T §

A) Tt et o g sas & @ et
Jenictrr

B) T € i § wiT SR € & At
Aemicn Sl

C) @ i & wmiwm & gay Y
D) 378 4 FIE e

49. T AT w1 dm A AR Fr TR SR 7 |

A) A — | AR
B) T — 3TE®HT 3R
'C) T T 9 — B
D) AIDS - 3fRef

50. g Wfer a7 3 & wd SR W
Eull

i

C LPage No. 2ﬂ

e i
A) St w9
B) esenfim e
C) Zarm i
D) Reer 9z T ThehT
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